### Transfers Report

This report contains the transfers results.

Contest Name

Ward 12 Victoria Park

Valid Votes

Positions to be Filled

Quota

Ward 12 Victoria Park

8,517

3

2,130

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Ade AIBINU	Scottish Conservative and Unionist	2,018
Feargal DALTON	Scottish National Party (SNP)	2,248
Allan FAULDS	Scottish Green Party	1,150
Matt MCGRATH	Scottish Trade Unionist and Socialist Coalition	52
Maggie MCTERNAN	Glasgow Labour	1,701
Deirdre PARKINSON	Scottish National Party (SNP)	856
James Douglas SPEIRS	Scottish Liberal Democrats	492
	Total	8,517

Candidate Feargal DALTON Elected with 2,248 votes, being in excess of the quota of 2,130

## Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Feargal DALTON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ade AIBINU	30	0.05249	1.57470
Transfer to Feargal DALTON	0	0.00000	0.00000
Transfer to Allan FAULDS	432	0.05249	22.67568
Transfer to Matt MCGRATH	19	0.05249	0.99731
Transfer to Maggie MCTERNAN	103	0.05249	5.40647
Transfer to Deirdre PARKINSON	1,535	0.05249	80.57215
Transfer to James Douglas SPEIRS	43	0.05249	2.25707
Value of non-transferable ballot papers			4.51662
	Total		118.00000

## Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Matt MCGRATH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ade AIBINU	3	1.00000	3.00000
Transfer to Feargal DALTON	0	0.00000	0.00000
Transfer to Allan FAULDS	18	1.00000	18.00000
Transfer to Allan FAULDS	2	0.05249	0.10498
Transfer to Maggie MCTERNAN	5	0.05249	0.26245
Transfer to Maggie MCTERNAN	16	1.00000	16.00000
Transfer to Deirdre PARKINSON	4	1.00000	4.00000
Transfer to Deirdre PARKINSON	9	0.05249	0.47241
Transfer to James Douglas SPEIRS	1	0.05249	0.05249
Transfer to James Douglas SPEIRS	3	1.00000	3.00000
Value of non-transferable ballot papers			8.10498
	Total		52.99731

## Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of James Douglas SPEIRS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ade AIBINU	2	0.05249	0.10498
Transfer to Ade AIBINU	126	1.00000	126.00000
Transfer to Feargal DALTON	0	0.00000	0.00000
Transfer to Allan FAULDS	145	1.00000	145.00000
Transfer to Allan FAULDS	18	0.05249	0.94482
Transfer to Matt MCGRATH	0	0.00000	0.00000
Transfer to Maggie MCTERNAN	8	0.05249	0.41992
Transfer to Maggie MCTERNAN	149	1.00000	149.00000
Transfer to Deirdre PARKINSON	20	1.00000	20.00000
Transfer to Deirdre PARKINSON	10	0.05249	0.52490
Value of non-transferable ballot papers			55.31494
	Total		497.30956

# Transfers Report

This report contains the transfers results.

Stage 5 - Surplus of Ade AIBINU

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ade AIBINU	0	0.00000	0.00000
Transfer to Feargal DALTON	0	0.00000	0.00000
Transfer to Allan FAULDS	7	0.00045	0.00315
Transfer to Allan FAULDS	326	0.00869	2.83294
Transfer to Matt MCGRATH	0	0.00000	0.00000
Transfer to Maggie MCTERNAN	4	0.00045	0.00180
Transfer to Maggie MCTERNAN	812	0.00869	7.05628
Transfer to Deirdre PARKINSON	52	0.00869	0.45188
Transfer to Deirdre PARKINSON	10	0.00045	0.00450
Transfer to James Douglas SPEIRS	0	0.00000	0.00000
Value of non-transferable ballot papers			8.32913
	Total		18.67968

## Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Deirdre PARKINSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ade AIBINU	0	0.00000	0.00000
Transfer to Feargal DALTON	0	0.00000	0.00000
Transfer to Allan FAULDS	1	0.00045	0.00045
Transfer to Allan FAULDS	12	0.00869	0.10428
Transfer to Allan FAULDS	947	0.05249	49.70803
Transfer to Allan FAULDS	548	1.00000	548.00000
Transfer to Matt MCGRATH	0	0.00000	0.00000
Transfer to Maggie MCTERNAN	89	1.00000	89.00000
Transfer to Maggie MCTERNAN	172	0.05249	9.02828
Transfer to Maggie MCTERNAN	8	0.00869	0.06952
Transfer to Maggie MCTERNAN	2	0.00045	0.00090
Transfer to James Douglas SPEIRS	0	0.00000	0.00000
Value of non-transferable ballot papers			266.11438
	Total		962.02584

# Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Allan FAULDS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ade AIBINU	0	0.00000	0.00000
Transfer to Feargal DALTON	0	0.00000	0.00000
Transfer to Matt MCGRATH	0	0.00000	0.00000
Transfer to Maggie MCTERNAN	5	0.00045	0.00225
Transfer to Maggie MCTERNAN	109	0.00869	0.94721
Transfer to Maggie MCTERNAN	537	0.05249	28.18713
Transfer to Maggie MCTERNAN	995	1.00000	995.00000
Transfer to Deirdre PARKINSON	0	0.00000	0.00000
Transfer to James Douglas SPEIRS	0	0.00000	0.00000
Value of non-transferable ballot papers			913.23774
	Total		1,937.37433